2 e

H =Y

2 of

x4 y?=2y-3=0

]

@ FAol (0, 1) °]aL, HFA[Fo] 1 ¢

]

o124

@ FA4ol (0, -1) ©]aL §H7]



2. F 905, 0,9 FHARNTd =701, I A2 HEAFO] Aol 1y, 1y
7F2, 54 o, 7 f2 ofd@ YA BACl A7

@ e, @ ettt
@ 7 Mol gt @ ] et
B U] do|A 9},



3. HIolF (x,y) = (x+1,y-1) ol &Jote] YH o2 AA = H2?

@ (-1,1) @ (0,0) ® (1,-1)
@ (1,1) ® (-1,-1)









o
>
=
2
=
-
o
|
D)
al
1o

=
n

O (x-1)2+(y-4)2=4
® (x-1)2+(-2)2=4

® x2+y2=2

@ (x+1)2+(y-2)2=8

@ x4+ (y-3)2=2



@ ®+y*’+x+29+2=0
® F+y*+2x+y+1=0 @ x2+y*—2x+4y+3=0
@x +y —2x+4y+4_0




FYG+12+yP=1x2+y?-6x-6y+2=0 9 F5HA]

@D o4 @ 174 3 274 @ 370 G 474



A2 +y? =8 Ay =x+k7I AR 2 F HoA B E=
A2 o] 7ho] W ol2 T5hm9

D -2<k<?2 @ 0<k<4 ® -4<k<0

@ —2<k<0 B -4<k<4



10.

—2x+a7t 9 x® +y? —dx -2y + 4 = 0°] &5t Fejz|=
015 A= S ] 2L ?



11.

A x® +y? =5 919 A AL 2) oA 22 Ao T

o -

® —2x+y+5=0 @ -2x+y-3=0
® x-y+5=0 @ x+2y+5=0
® x+2y-5=0

29



12.

X2 4y = 9 of HokT 718717k 2 9 HA ] WAL Fopa?

O y=x++5
@ y=5x+5v5

@ y=2x+35
® y=x+2V5



13. F92+y? =4, ¥ +y?—dx—-4y =0 ¥} A (-1, 1) S A=
o] gol=?

@D ® 27 B Ar @ 81 3 167



14.

AZONA 2 142 4 12— 16y + 96 = 0 91¢] Aele] F7a1e] Az o]
2R} H47ke) T

D 12 ® 16 3 20 @ 924 B 928



15. AR 9o 5 A (2, 2), (9, 9) A x &
Mok 9 0 ] W x HEE 9

11

) @ 5 @? @ 6

N | ©

lo



16.

HAR4) D 2 +y" —dx-2y+1 =09 A H PE ol
KB AP 9] S o] A4F ] dol&?

3

@ @ n @577 @ 2n ® 3n

N | X



17.

24 x—y+2 =0 thate] 1 A(3, 4) & A<

ot &, x +y & Fot?

D 4 @ 5 B 6 @ 7



18.

A3 A(-V2, 0),
7= A P(x, y) ©f 2= dolt

® 3

(\/— 0) 7F 9ot =74 QﬂQ

B 4

o] 91o] HIz]=

@ 5

—2

O

B 6

=9E



1,3), B(2a)E

P=1 " o, a9 g27



20. A (2, -DAA D ¥ +y? =19 22 FHO HHAOl y = ayx +
b1,y = asx+ by @ W, ajas — biby O] FH2?
@

® ® 3 @-2 &1

=~
[SLA



